WZ16-200NSSP 11 wAENER

EERVTRUVBER

NN ,\

1C40060A

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.11



WZ16-200NSSP 11

A
WAGNER

POS b ih 4 = TEAM i3
1 2112310 |@&)JER T 1 300,000

2 2112080 |/NMESHA RV 4 270/M8 X 5

3 2112114 | 3% 4 150/ ¢ 8

4 2112330 |79 1 51,100

5 2112350 |[7ra—& 317 1 58,200|3CCR

6 2112331 |7 750 1 4,200

10 | 2104763 [V4 vk 1 1,300|R3/8F

11 | 2118067 |H7F—Y/rvh 1 4,400|SUS3/8F

13 | 2104003 |=v 7L 1 1,100|R3/8

21 | 2104902 |74— 1 4,300[SUS3/8

22 | 2112082 |UH¥—>=w7 )L « Bs 1 4,200/G3/8M X R3/8M X 100
23 | 2112081 |RUF¥v~ 1 270|3/8

25 | 2103037 |=v7 L 1 910|R3/8 BSBM

26 | 2104948 |T LR 1 3,400[{SUS3/8

27 | 2112083 |[RE=v7 /L 1 3,200|3/8 X 80BSBM
32 | 2240002 |F—ARUR 25 1 730{17 ~ 25

33 | 2112332 |HEy=7 —Hix | 2 6 1 9,000

34 | 2104218 | NRTA4vT 4T 1 2,600|G3/8 X R1/2M
35 | 2104463 |4 TV MFART X Sl — 1 1,700/G3/8F X R3/8F
39 | 2104925 |[SLL=w 7L 1 6,100|R1/2 « SUS

40 | 2104954 |BAETILAR 1 6,100|R3/8F X R1/2F
41 | 2112333 |/SA/RRAK—RA 1 10,200

42 | 2103039 |=v 7L 1 3,100

43 | 2104765 |VA& vk 1 3,500|R3/4F

46 | 2112334 |BEE=v7 L 1 2,300[1/2 X 3/4 X 60
47 | 2112335 (249 1Fa—7 1 27010 X 13 X 250
48 | 2112110 [0 V> 1 150{10.82 X 1.78
49 | 2510144 |[FAL AR —F)— 1 3,200(1/2

50 | 2112086 |RUFpw~ 1 270

51 9904409 |/NfSSFTT 7 1 500{R1/2

55 | 2115555 |E It « STiAF 1 13,400| ¢ 63-30MPa
56 | 2104622 |[FAAZTILR 1 2,400|R1/4

57 | 2104762 VA vk 1 1,100|R1/4F

58 | 2104002 |=>7 /L 1 870|R1/4M

60 | 2104620 |[FAAARTILR 1 5,600|R3/8

61 | 2103483 |[h—A=v7 /L 1 2,300{R/3/8 X ¢ 10.5
62 | 2112088 |F—AZYy 2 270( ¢ 12.5

63 | 2112336 |AA/LKLLR—XA 1 1,100[8 X 13 X 230
64 | 2112337 |[ARUvhFa—7 1 400

65 | 2112338 |RrFA ALKl 4 E 1 2,300

66 | 2112339 |[myZrF vk 1 780|3/4

67 | 2112038 |FLo 757 1 1,300{G3/8

68 | 2112151 [0V 1 150[14.00 X 1.78

Ik -

T - P = AN AL (e IR /Y o/ S B

2

LC40060A
2023.11




WZ16-200NSSP 11 wAENER

I_é‘l_Jj_:7I_:?/70 (PN 21 _I 231 O) 3% 2112310 1%, Pos.61,63,65,46 I35 EN TRV EFA

1C40061B

[C40061A
3

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.11



WZ16-200NSSP 11

A
WAGNER

2112902 |73V 7 B

9,400

Pos.1,3,4 (% 6 77 AV )

2112922 | —/F vk

16,800

Pos.11,12,14,15 (% 3 77 A\D)

2112942 |7 F0TvFwb

N

19,900

POS RS RES X FEAT B3
1 2112109 |0 U7 06 150(17.86 X 2.62
2 2112003 | ST F57 6 2,700
3 2112311 |7 &k O6 2,600
4 2112125 |0V 06 150{15.54 X 2.62
5 2112006 |7FZ2 2 1,300|G1/4
6 2112110 |0 V2 2 150{10.82 X 1.78
11 2112008 |V AR—KUL 7 @3 1,600
12 2112009 |@E)JEy—L @3 5,200
13 2112010 |3 —nUFAF— 3 3,900
14 2112011 |0V @3 270
15 2112012 |IRES—v @3 2,700
16 2112013 |A AN —b 3 2,300
17 2112014 |7SFRAHRLV S 4 150
18 2112312 |= o RA R — 1 8,400|P0s.70,71,72 &

18A 2112016 |F*ET 2 0.1 mm 0~3 400

18A 2112017 | 2 0.2 mm 0~3 400
19 2112018 |0V 1 650
20 2112019 |_X7U 7 1 5,200{30304
21 2112313 |UFv0/r—A 1 83,200
22 2112021 |FA4v T ATAv7 1 3,100
23 2112022 |77 Vv —Fvh 3 650
24 2112023 |Uviy— ] 270[8 x 13 X 0.5
25 2112024 |7I0 Vv — 03 10,100 ¢ 18
26 2112314 |RUH =YL T 0s3 520
27 2112141 |0V 03 150/4.48 X 1.78

28A 2112027 |7To V% —HAR 3 13,500

28C 2112028 |\ 77TV 03 520
29 2112029 |HAREY 3 1,100
30 2112030 |=>mvk 3 17,000
31 2112031 |AFARN) L2 3 400
32 2112032 |AANY AT TR 1 650
33 2112146 |0V 1 270[20.24 X 2.62
34 2112315 |0 Vv 1 650[ ¢ 106 X 3
35 2112316  |#&¥BH /N — 1 12,000
36 2112317 | 7NAAREHRVE 6 400[M6 X 14
38 2112318 |F A2 1 270
39 2112151 |0 Vv 3 150{14.00 X 1.78
40 2112319 | N7 3 1,500|G3/8
42 2112320 |0V 3 270 ¢ 18.77 X 1.78
43 2112321 |0V 3 650
46 2112039 |7F VRV k 4 400[M8 x 20
47 2112154 |0 Vv 1 270|17.5 X 2.00
48 2112041 |757 1 2,200|G1/2
49 2112042 |ARo T~k 1 150,000
50 2112043 |/ IAFR LR 8 270
51 2112044 Uy p— 8 270
59 2112045 |77 73 %7k 1 56,700
60 2112046 |7V 1 10,700
61 2112047 |A AN —b 1 2,300
62 2112048 |0 Vo7 1 650
63 2112330 |79vv 1 51,100 fic & [X 2 R
65 2112114 |M 3% 4 150 ¢ 8
70 2112322 |AFARNIL 1 1,600
71 2112323 |5 122 1 400
72 2112324 |AANP AT TR 1 7,300
73 2112325 |0 Vv 1 270[ ¢ 34.6 X 2.62

O
[ ]
O

Pos.24,25,26,27,28C (- 3 7 AV )

i

fIAk - dn - MRS T ERKER T 2ENHYET,

LC40061B
2023.11




WZ16-200NSSP 11 wAENER

7>a—4—/\)L7 (PN 2112350)

73y RIZEN

NG

IC40062A

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.11



WZ16-200NSSP 11

A
WAGNER

Ik -

T - P = AN AL (e IR /Y o/ S B

6

POS R Ea E | EMm ik
1 2112271 |75 1 400
2 9900318 [/~ 7RV 1 360[M8 X 20
3 2112272 |NfFwhk 1 150|M8
4 2112273 |FE#E /7 1 910
5 2112274 |7 1 650
6 2112275 |FHES b 1 16,400
7 2112276 ATV HAR 1 14,700
8 2112277 (AN 7L —h 1 5,800
9 2112278 |JEJJFHEERA TV 1 2,000
10 | 2112279 |[AFARS —h 1 1,300
11 | 2112295 |e° 1 2,200
12 | 2112296 |7 w/R—E Rk 1 9,400
13 | 2112282 OV 1 150
14 | 2112283 | w77V 1 270
15 | 2112284 [OVv 1 270
16 | 2112285 |Fx=wr/3L7 1 3,500
17 | 2112286 |Fxv 7SV T 2TV 1 780
18 | 2112154 (O Vv 1 270[17.5 X 2.00
19 | 2112297 |TURLY RS F7 Assy 1 4,300
20 | 2112298 |0V 1 150| ¢ 11.91 X 2.62
21 | 2112289 |/NILTRTF 4 1 17,700
22 | 2112290 |/ ST TV 1 520
23 | 2112141 |0 V7 1 150|4.48 X 1.78
24 | 2112291 |3 —/L Rv% 1 2,300
25 | 2112292 |m—U—E AR 1 12,500
26 | 2112197 |0V 1 150|17.17 X 1.78
27 | 2112293 [P 7—b 1 8,300
28 | 2112299 |0V 1 910 ¢ 11 X 1
35 | 2112294 |\MH O T 40T 4T 1 5,200
LC40062A

2023.11




WZ16-200NSSP 11 wAENER

%« RKIAR—R

2
1D40002B
POS i B Hg: AT ik
1 2116150 |W/KAR—A 1 10,000{G1/2 X 3m + O U7 fsf
2 2116021 O U» 7 (1) 270|P12.5 « G1/2
3 2116151 |[F/KE—A 1 5,900{G3/8 X 3m + O U7 f}
4 2116022 (O V2 (1) 270|1A - 6 X 3
5 2116320 [ARL—F— -« [ 1 4,200|G3/4F
.D40006B-3

7
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.11



